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БУКВЫ ЛАТИНСКОГО АЛФАВИТА

                      a – «а»
                      b – «бэ»
                      с – «цэ»
                      d – «дэ»
                      k – «ка»
                      x – «икс»
                      y – «игрек» 
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ФИЗКУЛЬТМИНУТКА



      Было – 50 р. И 10 р.
      Заплатила – 30 р.
      Осталось - ?

Первый способ: (50 +10) – 30 = 30 
(руб.)

Второй способ: 10 + (50 – 30) = 30 
(руб.)

Ответ: у мамы осталось 30 руб.



Домашнее 
задание. 

Учебник: стр. 77, 
№№ 3, 4, 5.


